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1 =172
1+2+1=2°
1+42+3+2+1=3?
1+2+4+3+4+3+2+1=47

1424+ -D+n+(n—-D+-+2+1=n?

n=123--

HE 1




1 =172
1+ 3 =22
1+3+5=3°
1+3+5+7 =44

1+34+5+--+(2n—1) = n?

n=123--

=




1 =12
2+3+4 =23
3+4+5+6+7 =5
44+5+6+7+8+9+10 =74

n+(n+1D)+Mm+2)+--+Bn-2)=02n—-1)>3

n=1,23-

HE 3




13 =12
13 423 = (1 +2)°
1°4+2°+3°=(1+2+3)°
1°4+2°4+334+43=(1+2+3+4)

P+234+33++n*=0Q+2+3++n)°

n=123--
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1+2=3
4+5+6=7+8
9+10+11+12=13+ 14+ 15

16 +17+18+ 19+ 20 =21+ 22+ 23 + 24

n+m*+D++m*+n)=m*+n+1) + -+ (n*+2n)

n=1,23-
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2. DLESTAMERVEEIINT - EEH R " ERBIIRAZ
HE1:
1+2++-D+n+(n-1)+-+2+1=2XA+2++n)—n

n(1+n)

=2x —n=n+n’-n=n?,n=123- =

HE2:
1+3+5+---+(2n—1)=§(1+2n—1)=§(2n)=n2, n=123- m

HE3:

n+m+1D)+n+2)++@Bn-2)=FDOED _ 5y )2 =123 m

2
HE4:

2 2
?:1 i3 — k (k4+1) , k = 1, 2} 3. (m‘ﬂq%&%%ﬁaﬁgmii%‘zﬁ>

2 2
213423433 443 =L (n+1) — [n(nz+1)

2
- | =a+2+3+-+n2n=123" m

HES:

_ (n+1)(n?+n%+n) _ n(n+1)(2n+1)
2 2

EH=n>+"?*+1+--+n%>+n)

n(n?+n+1+n?+2n) _ n(2n?+3n+1) _ n(n+1)(2n+1)

HhH=m*+n+1)+ -+ 0*+2n) = > 5 2

ST =H6T
anf+ P+ D)+ -+ MP4+n)=n*+n+D)+--+m*+2n),n=123- =n
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